pu=0.8
pr =—0.83
pn = —0.59

== Dry
= Control
= Moist

N, (cm™3)
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8
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d)

Mature Dissiﬁating
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1201

&~ 100
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Develvoping

g)

Mature Dissibating

0.002251 puy=-—0.82

p =09
0.00200
0.00175+
0.00150+

g 0.00125
0.00100
0.00075 1

0.000501

0.00025

Develvoping

Ma'&ure Dissibating

AF

=0.82

PH

350

—

m

—
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Cloud size
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150+~
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Dissibating

e)
0.200

0.175

0.150+

0.1254

0.100+1

0.0751

0.0501

0.025+

Develvoping

Dissibating

Mature

Develvoping

py = 0.66
pr =—0.62
pn = —0.35

0.06

Develvoping

Mature Dissir;ating

f)

—0.02 1

—0.03

—0.04 -

—0.05

—0.06 1

—0.07 1

Develvoping Mature Dissibating

)

0.42{ p =062
0.40

0.381

dr

0.361

0.344

0.321

Develvoping Mafure Dissi;ﬁating



